
Part Number D H M W Weight
(g) Locating Receivers 

CP725-16032P 12 4 M3×0.5 2.0   3 CP725-16032
CP725-25050P 19 6 M4×0.7 2.5   5 CP725-25050
CP725-38070P 29 7 M5×0.8 3.0 14 CP725-38070
CP725-56095P 44 8 M6×1.0 4.0 35 CP725-56095

CP725-P PROTECTIVE COVERS

Body Screw

A5056 aluminum
Red

SCM435 steel
Black oxide finished

D

H

W

M

Mount on Locating Receivers onto
the tapped hole as a protective cover.

How to Install


